Affer taking a programming class, FJ started writing and selling apps. Revenues during the first month were small,

SCORE: __ /25PTS

In the third month, revenues were $144 , and in the sixth month, revenues were $486 . IfFI’s monthly revenues formed a geometric
sequence, Tind the total revenues for the first one and a half years,
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(b]

A circle has (-1, —6) and (7, —2) as endpoints of a diameter.

Find parametric equations for the circle.

SCORE: /25 PTS
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A particle moves counterclockwise around the circle, starting at the rightmost point of the circle. If the particle makes one complete
circle every 10 seconds, find parametric equations for the particle’s position
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Use sigma notation to write the series — ——+——++— —_

. SCORE: /20 PTS
19 ' 21 71 &— PoThETIC. d=2 —
Show clearly how you found the upper limit of summation (ie, not just by counting).
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Consider the sequence defined recursively by a, =9 —-2a, |, a, =5. SCORE: ___ /15PTS |
fa] Find the first 5 terms of the sequence, and write them as a list.

= Q(2)- 2a,= 1$-2(5)=2
Gg, = A(RD)-2A, = 27-2(= 1) B |
Ry = A 2ay= 36-2001D=14 5,8 147
Qs = 4(5)-2a, = 45 -2(1)=17

[b] Based on the first 5 terms, is the sequence arithmetic, geometric or neither ? Justify your conclusion very briefly.
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Eliminate the parameter to find rectangular equations corresponding to the parametric equations SCORE: 15 PTS

Write ¥ as a function of X,
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Prove by mathematical induction: for all integers 1 > 1. SCORE: /30 PTS

|ODUCTIVE STEP | -\ -\« rop somE
ASSLME _—l"wj__ *ﬁ“"“‘z,@ T T ey | PARTICAAR BUT
| | O peBITRARY nSTESER

| ez
PPOVE T 7 23 Y e T e
TR I vy vpors SR (L TS
N A B—
et e DO 50, BY ML .
! \ A F\ T4 S
= \GUL*"’L) | . “(2,.\. PR + ‘.H# ﬂ(_h-\'})# -y
U“j"‘){—k*“g) Fol ML INTEGCERS Nz ]
= kel |
(e DD
b e
T ey k2
SCORE: ____/20PTS

Find the coefficient of x° y63 in the expansion of (Zx2 —yH)?
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